
(t, x) ∈ T ×X = {(t, x) : t = t0, ..., t1 − 1, x = x0, ..., x1 − 1}
'  �(�$& �0 �'$�%#�0

y (t0, x) = ϕ (x) , x = x0, x0 + 1, ..., x1. A5B

���'& A (t, x) , K (t, x, s) , 2���  �� (n× n) �#'���� �� 0���#( �� 3� �4##! f (t, x) 2�,
��  �. n,0�� �. �#'���� �. %�����,3� �4#.! ϕ (x) 2���  �. n,0�� �. �#'���� �. %�����,
3� �4#.�

��0��#0! (�� ���% � #� A9B ;���'��%$.�� '�1�� �#'���� �� � �$�8 # ��8��,
�#33��� 4#�$& �8� ���% � #. �#;� ���1��# � A'0�  �;�� �9,)�B�

� ��1���  ���� � =# ��8��$& ��> ;���'��%$� #� ���� #. 2���(# A9B,A5B�
��;�'�#0! (�� F (t, τ, x) # R (t, x; τ, s) (n× n) 0���#( �� 3� �4## .%$.-?#�'. ����,

 #.0# 2���(
F (t, τ − 1, x) = F (t, τ, x) A (τ, x) , F (t, t− 1, x) = E,

R (t+ 1, x, τ, s) = A (t, x)R (t, x; τ, s) +
x1−1∑
β=x0

K (t, x, β)R (t, β; τ, s),

R (t+ 1, x; t, s) = −K (t, x, s) .(E , (n× n) ��# #( �. 0���#4�B!
�������� ���� #� 2���(# A9B,A5B ��;�'���� ;���'��%$� #�

y (t, x) = F (t, t0 − 1, x)ϕ (x) +
t−1∑
τ=t0

F (t, τ, x) f (τ, x)−

−
t−1∑
τ=t0

x1−1∑
s=x0

R (t, x; τ, s)F (τ, t0 − 1, s)ϕ (s)−
t−1∑
τ=t0

x1−1∑
s=x0

[
t−1∑

α=τ+1
R (t, x;α, s)F (α, τ, s) f (τ, s)

]
.
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2 ��x����� ����

� ���$��� ��''0���#%���'. 2���(� � 0# #0�0� ���0# �$& �8� 3� �4#� �$�

S (u, v) = max
a∈A

ϕ (y (t2) , a) A9B

;�# �8�� #(� #.<

u (t) ∈ U ⊂ Rr, t ∈ [t0, t1] = T1,
v (t) ∈ V ⊂ Rq, t ∈ [t1, t2] = T2

A5B
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ẋ = f (t, x, u) , t ∈ T1, x (t0) = x0, AtB

ẏ = g (t, y, v) , t ∈ T2,

y (t1) = G (x (t1)) . A)B

���'& (x (t) , y (t)) (n1 + n2) , 0�� �� %����� 3�2�%�< ;���0�  �<! A �� �( �� 0 �/�,
'�%� m,0�� �< %������% a! ti, i = 1, 3 (t0 < t1 < t2) , 2��� �! U (V ) , 2���  ��  �;�,
'��� # �8�� #(�  �� 0 �/�'�%�! (u (t) , v (t)) ��'�( �, �;����% �� %����� �;��%$.-?#<
%�2���'�%#�! G (x) , 2���  �. �%�/��  �;����% � �#33��� 4#���0�. n2,0�� �. %�����,
3� �4#.! f (t, x, u) (g (t, y, v)) 2���  �. n1 (n2),0�� �. %�����,3� �4#.  �;����% �. ;�
'�%���; �'�# ;���0�  �< %0�'�� ' (�'� �0# ;��#2%�� �0# ;� x (y) �� %����8� ;��.���
%�$-(#��$& ��

���#3#4#��. 0���� ;�#��?� #� ' �(�$� ;�$�(� �  ��1<��#0�� �'$�%#� �;�#0�$& �'�#
% �#;� 0��'#0# � # $# ���#2�%�  �8� 0��'#0# � �5! t�! 2���0 #''$���%� �'�1�� % '0�'$�
0��'#0# � �5! )� '$�(���

S�$�(� �  ��1<��#0�� �'$�%#. �;�#0�$& �'�# �'�1�< �;��%$� #��

=(� �� *�!���!��"

;< PQXQ>E? k
� bCGC;;E?Q H
A
 l�
uo� 
h�����f�o� �h�������k< m< ������ ;�9E� ��	 �<

�< :;Z><?C[ @
@
 ��
uq
n��o� ���
��k 
h�����f�
��� n�k ���������oq r�n�s 
h����r�t�� HH ~�}}��
���t< ��������k< ;�9	< { �<

E< S<FZ^IE? @
H
 C RG
 ��x��n��� r�n�s� ��
��� 
h����r�t�� � �h�������k< i< �rn<��
 izy� ;���<


< AQI>CFE? b
d
 l�
uo� �h�������k � �������q � r�h�rno������<  ���� �im< ;���� ;9	 �<

� G��@�!�!D�'�=!�> ��')���?'D�� �����<
� ?'@'? B%'�F�< '#&A<�!��< !�>�#'�=!�&� ��@'

o��� ��������' 4�4� x�������

 ��
������e x
��n��������oe ��q�
�
x�s����e ������������ ����n�
�� ;E�� ����E� m�����  ������f
 ��������	�!��
�
�
�	������

�� 9� !���%�� +������ ��''0���#0 $# �� �- '��4#� �� �- �;��%$.�0�- '#'��0�  ��,
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ẋ(t)−
N∑
j=1

Dj ẋ(t− jh) =
N∑
j=0

(Ajx(t− jh) +Bju(t− jh)), t > 0 A9B

ADj ∈ Rn×n;Aj ∈ Rn×n;Bj ∈ Rn×r, j = 0, 1, . . . , N ;N ∈ N, h > 0B
#$# % �;������ �� 3��0�

(In −D(e−ph))ẋ(t) = A(e−ph)x(t) +B(e−ph)u(t), t > 0

8�� e−ph− �;������ '�%#8� Ae−phx(t) ≡ x(t− h) B� D(e−ph) ∈ Rn×n[e−ph], A(e−ph ∈
Rn×n[e−ph], B(e−ph) ∈ Rn×r[e−ph]� �$�0� �� s× q ,0���#4�,3� �4## #2 Rs×q[m] �'�& 0 �,
8�($� � ;���0�  �� m = e−ph '��;� #  � %��� N ! D(0) = 0.

S�#'���# #0 � '#'��0� A9B $# �� �� ��2 �'� �� ��8�$.��� '� 0 �8#0# 2�;�2��%� #.,
0# ;� '�'��. #- # �;��%$� #-�

Θ∑
j=0

ϕju(t− jh) =
Θ∑
j=0

Qjx(t− jh) A5B
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